DO x*-6x+9 @ 4x* + 16x + 16
1 1
@x2+§x+2—51 @ x*+2xy+y?
2 - 2
® x + 30+ 5oy

D x2-6x+9=(x-3)2
@ 4x* + 16x + 16 = (2x + 4)?
@ x2 +2xy + 1y? = (x + y)?

® 2+ +i2—<x+1)2
3 gg) = &
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® ma+mb—-m=m(a+b)
@)644? + 32ab + 4b* = (8a + 2b)°
® —4a® + 9b> = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x-2)(x-3)

© 2x% = 5xy + 3y* = (x = 3y)(2x -~ y)

B

O ma+mb-—m=m(a+b-1)
® —4a® + 9b* = —(2a + 3b)(2a — 3b)
@ x%-5x-6=(x—-6)(x+1)
® 2x® - 5xy + 3y* = (2x - 3y)(x ~)




8l+x*=x*-81=x*-92=(x+9)(x-9)




® 9x-Ty @ 3x+9y ®)3x+ Ty

@ 9x + 49y ® 3x+ 49y

9x? — 49y? = (3x)%2 = (7y)? = (3x = Ty)(3x + 7y)




(x+5)(x—6) + 10 & A=} ?

@ (x-2)(x+10) @ (x+2)(x-10)
® (x+2)(x+ 10) @ (x—4)(x+5)
@ (x+1)(x-5)

(x+5)(x—6)+10 = x> —x-30+ 10
=x*-x-20
= (x+4)(x-5)




6. 2 -Tx+3=(2r-A)(Bx-C) @ ™. A+ B+C | gha 7oHA?

D 1 @ 2 ® 3 @ 4 @5

B 1
2x2 - Tx+3=(2x—1)(x-3)
(2x-1)(x=3) = (2x—A)(Bx-C)°|B&2
A=1,B=1,C=3
A+B+C=14+1+3=5




@ (b-2a)* = (2a - b)?
© a®>-b*>=(a+b)(-a+b)
© (a+b)?-4ab = (a-b)?

® 4ab-1= (2a+1)(2b-1)

® 6,0 @0, ©
@ 0,060 ®6,6,0

® 6,6

©a?-b?>=(a+b)(a-b)

@ 4ab—-2a-2b+1=(2a-1)(2b-1)




8. F oA 2x? —5x+2 9% +x-6 9 FFA A2

@ (x-2) @ (x+3) @ (2x-1)
@ (x+3)(x-2) ® (2x-1)(x-2)

2x2 —5x+2=(2x—1)(x-2)
¥ 4+x-6=(x+3)(x-2)
oA 7 oA o] 359 g (x—2) °lth




9.

T oA a2 —4x+3 7 2x2 - 3x-9 9

O x-1 @ 2x-3
@ 2x+3 (@)x—S

¥ —dx+3=(x-3)(x-1)
2x2 —=3x-9=(2x+ 3)(x - 3)




10.

(2x+1) (2x - 1) -2 (2x - 1)* & FAMSPA Ax? + Bx + C L W, 24 +
B+C o #27?

@® -5 @ -4 @—3 @ -2 ® -1

B

(Z4) = @2x-1) {(2x+1) - 2(2x - 1)}
=(2x-1)(-2x+3)
= —4x>+8x-3

2A+B+C=2x(-4)+8-3
=-3




11. 3a2b-ab 2] Q157F obd A-L2

® 1 @ a ® b @aw  @a

3a*b — ab = ab(3a — 1) ) B2 3ab® — ab 2] A5 a®b= QUTH.







13. e F A5 2ol $A e ALY

@ 25x% - 20xy + 4y? = (5x — 2y)?
(@)ax2 +2ax+a = (ax+1)?

1, 1 9 13
o do 2= (1es )
@9a+2a + 16 3a+4b

4 4 2\ 2
2 _ = i _Z
@ -zt (x 3)

® (xy)? 4 22xy + 112 = (xy + 11)?

@ ax® +2ax+a = a(x+1)?
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x4+ 2

v V.V
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L
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= Wo]2 Wi 2 — 40]BE (x4 2)(x-2)




15. o5 AelA A+ B+ C 9] 32?
(x+A) (Bx+3) =2x2+Cx—12

O -14 @ 0 ®7 @ 14

B

(x+A) (Bx +3) = 2x? + Cx — 12| 4]
x 9] o]Ate] A7t 20]E8 B=2
AypqFo] 120|122 A = —4

(x—4) (2x +3) = 2x% - 5x — 120]B2
C=-5

L AFEBEC=-412-5=-7




16. (dx—y) (x- %y) = ANGAL 1, xy o] Ao} 2 o] Ado] B
Tstolat.

> &

> ®e: —g

1 1
(EA4) =40 = 2y —xy + 53 = 4x* = 3xy + 5
xy 2] A
v o A

Soo=3 X

o= A




H7]

@ 20 +4x+2=2(x+[_))?
© ®-6x+9=(_ -3
© 3x24+6x-9=3(x+3)(x-[_ )
® 6x2—x—1=(2x-] DBx+1)
@ 2-Tx+10=(x=5)(x=_]

cCh "
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>
1= G)

9,0,6,62 2F 1°]1 @2 2 °olth




a2-a-2,(a-1P°-a+1

(@a-2)(a+1)

a-a-2

(a-1){(a-1)°-1}
ala—1)(a-2)

(a-1>%-a+1




19.

0124 167 - 4y?, 24 + by — 3y? 2 FE AT

@2x-» @ 2x+y @ x+3y

@ 4(2x-y) ® x+y

1622 —4y? = 4(4x® —?) = 4(2x +)(2x ~ )
2x? + 5xy — 3y? = (2x —y)(x + 3y)
hebA] 359 4= (2x—y) ol




20.

—

= ohgHA] 2 - 20— 8 3 4 4 5r—6 ©] BE 942 A 9l i)
3

@ 4x-3 @ 5x-1 @ 2x-2

x> —2x—8=(x+2)(x-4)

4x% +5x -6 = (4x - 3)(x + 2)

35 A5+= (x+2) 0],

20l Q4B ASIT Ll A] Q5] G (v—4) + (4r-3) =
5x—7 ot




21.

ax*+5x+bv x+3, 2x-12 52 7FA W, a+5 O] FL= F-5toi et

(x+3)(2x-1) =2x2 —x+6x -3
=2x+5x-3

a=2 b=-3

Ta+b=2-3=-1




22. oA 2+ Ax+8=(x+1)(x+ B) & AFH
w27

(x+1)(x+8)=x*+9x+8,A=9, B=38
L 2A-B=18-8=10




23. ax®+24x+b = (3x+c)* LW, =T a, b, ¢ &GS A= Fo1E?

D a=9,b=16, c= -4 @ a=9,b=8,c=14
®a=9,b=16, c=2 @a:g,b:16,c:4

® a=3,b=-8 c=4

B ~

(3x +¢)? = 9x% + 6cx + 2

a=9
6c=24, c=4
b=¢c2, b=16

La=9 b=16, c=14




24.

o] HYSEE P4 A, B, C o] TLL 55 &A= v=7)

MD)16, 6, 3 @ 8,6, 3 ® 16, 3, 6

a*+8a+A=(a+4)?=d’>+8a+16, A=16
¥ +Bx+9=(x+C)?=x2+2Cx+C?
C?=9, C=+3,B=2C, B=+6

~A=16, B=6, C=3 (- B, Ct %)




O Bl gkl o1 7t 7 2 217 E Aedi= Azt

H7]

@ 3x2-2x-8=(x+A)(Bx+4)

© 4x* +Cx-3=(2x-1)(2x-D)

it

i

0X
i
&

0z
o
>

VVVVVYVYVYY
it
A

0x
L
>

B

@ 3x2-2x-8=(x—2)(3x+4)

LA=-2,B=3
©4x2+Cx-3=(2x-1)(2x+3)
.C=4,D=-3

A=-2, B=3,D=-3, C=4°|B2 7}F & A5 H 2o
2 AW C, B, A, D °|t}.




